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Show all your work!

Mathematical Concepts — Joysheet 2 Name:
MAT 117, Spring 2012 — D. Ivansi¢

1. (10pts) a) 75 is 64% of what? b) 17 is what percent of 577
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2. (6pts) You bought a nice set of silverware for $125. If sales tax is 6%, what is the total

rost?

3. (12pts) In 2008, Jane filed a tax return separately from her husband. Her total income
was 545,900, she deposited 31500 into a retirement account, paid 3850 in property taxes on
a property she inherited, and donated $550 to charity. Use the table on page 448 of our book
to first determine Jane's taxable income (don't forget the exemption) and then find the tax

on this income.
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4. (12pts) At a building-supply store, a certain type of brick costs 5156 per cube of bricks.
Due to lack of demand. the store decided to reduce the price of these bricks by 25%. Not
long afterwards, a strong storm that blew through the area created demand for building
supplies and the store raised the price of the bricks by 15%. How much does a cube of bricks

cost now?
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5. (10pts) How much money should you deposit in a simple-interest account bearing 2.25%
if vou wold like to have $1300 in three years? How much of the final $1500 is from interest?
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6. (10pts) Emily borrowed 31200 from Amanda and repaid her five months later with
$1400. What simple annual interest rate did Emily pay on this transaction?
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